10)
g (1) (M .
ajghagavad Gita was said to have been

- compiled by
(A) Shankaracharya (B) Madvacharya
(C) Veda Vyasa (D) Vallabhacharya

What is the nature of the image formed due
to concave mirror when object is placed
beyond centre of curvature ?

(A) Real and inverted
(B) Virtual and erect
(C) Real and erect
(D) Virtual and inverted

During heavy exercise, we get cramps in
the legs due to the accumulation of
(A) Carbon dioxide (B) Lactic acid

sITad T R Hehe
AT, AT S R
(&) YR
(C) 9% =™

A=

. 9 I I Thal g & IS @ S e @

mgf?ah%mmﬁaﬁnﬁﬁaaﬁuﬁ
(&) arafae IR Iea
(B) Tt SR e
(C) arefass 3 Hen
(D) =TTt 3TR e

g M S e, Wided

| ¥ g F SR R R

(A) T SRATIEE (B) wifdesh I

(C) Alcohol (D) Water (C) 3Tched (D) &
Sodium hydrogencarbonate on heating | Aifean gERAEEE TH & T
produces I T 2 5

(A) Sodium hydroxide (A) wifeam TEgITRE

(B) Sodium oxide (B) Wifem HATFTES

(C) Sodium carbonate (0) Tifem FEHe

(D) Sodium (D)

The land Eultiuated by Kurus w-as called as . @531’? ER%T|3CIGII§"1§ ’Ifﬁ

(A) Bahudhanyaka (B) Adiroopa (A) (B) m
(C) Prajotpathi (D) Angeerasa (C) (D) A

6. An instrument for measuring the speed of ag TRy wTae AT §

wind is (A) e

(A) Odometer (B) wfenfieX

(B) Speedometter ©) e
(C) Anemometer ®) et

(D) Barometer

' 7. After Gupta dynasty, in the middle of| 7. TWEWH m,.ém El a;g: T * ﬁ;ﬂ
Sixth Century AD, established 7 g W zenfua \
supremacy over Punjab. (A) Yowid

' (A) Pallavas B

R (- .Gujérat EC; wg,' (T
(C) Kadambas :
(D) Huns' | (D) g1
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12.

13.

14,

[

the number which jg
mong the options,

A) 1001
(C) 1010

not like the other

(B) 1109
(D) 1119

9, Hgnrana is the first state to launch
(A) Sateliite
(-B) Mahila Poljce Volunteer
(D) Aryabhat

10. Cons‘i‘der the following with reference to the
term Sovereign State”.

() A.coumry can be a sovereign with or
without dominion of any other nation

(B) Sovereignty is compromised while
getting membership in the UNO

(C) Both are right
(D) None

Solutions of the equation
VBx? —8x + 35 = 0 are

(A) \/g% (B) 5,3
(C) 5,35

Prabhakara Vardhana, the first king of
Vardhana dynasty was the ruler of

(A) Thanesar (B) Kurukshetra
(C) Geeta Vardhana (D) Patna

(D) 4,2

Which of the following Article provides that,
‘The State shall not discriminate against

any citizen on grounds only of religion, race,
caste, sex, place of birth or any of them’ ?

(A) 13 (B) 14
(C) 15 (D) 16

Governor acts as the nominal head and the real
power of administration of the state lies with

(A) Prime Minister (B) President
(C) Chief Minister (D) People

10.

11.

12.

13.

14,

472018 (1) (M10)

I8 TET T S faewed 8 74

& 8l

(A) 1001 (8) 1100

(C) 1010 (@) 1110 et

=g 8l

A) 3JUlle F

((B)) nfeen geE TEEHAR

(¢) forgm =IsIe

(D) g _

sy o e % ok FrerferEd

E?Ruf%mmﬁmammam%mm
<o BT G B e 8

(B) wﬁﬁmmaﬁmw
3 gy it fopaT ST @Rl

©) TR

(D) 1§ T

J5_x2—8x+3x/§=03"ﬁw%33

3 | -

(A) JE,TE (B) 5,3

(C) 5,35 D) 4,2

TR FEHT, T 9T SR qaeT Ui

T I A7)

(A) TR (B) FeE

(@) e aeq (D) 9T

frafofaa o & SF-1 ST7=88 W9y &l

? & o= wnf, w1, fom, sf, Seafer & =
& R g foreft s =l aferd =i e ?

(A) 13 (B) 14
(C) 15 (@ 16

TSIYTeT I8 I T o €9 3 e HiaT & 3
T 9T Y areaferes Wife 36t # ffea 8
(A) SerTEE (B) gl .

(€) FEEHAt (D) .-
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18 1) (M1DJ ] [} ]
¥ It fONE’ can be coded as ‘34' then TWO

15.
be coded as
(":)" &0 (B) 48

- 16. A current of 0.5 A is drawn by a filament

of an electric bulb for 20 minutes, find the
amount of electric charge that flows through
the circuit.
(A) 300 Coulomb
(B) 600 Coulomb
(C) 2400 Coulomb
(D) 20 Coulomb

17.  Readthe following statements with reference
to features of Kashmir Himalayas,

i. They are famous for Karewa formations.

ii. Karewas are the thick deposits

of glacial clay and other materials
embedded with moraines.

ii. They are useful for the cultivation of
Zaffran.

iv. Srinagar, the capital city of the state
of Jammu and Kashmir is located on
the banks of Jhelum River.

Select the answer code :
(A) i, ii and iii
(C) all the above

(B) ii, iii and iv
(D) iii and iv only
18. All triangles are similar.
(A) Isosceles

(B) Equilateral

(C) Obtuse angled

(D) Right angled

'i9. In 2016-17, Haryana GSDP is growing at
(A) 6.7 percent |
(B) 7.6 percent
(C) 8.7 percent
(D) 10 percent

Downloaded from www.cclchapter{@rscanned with OKEN Scanner

15.

16.

17.

18.

19.

qﬁ'ONE'W LT L ' 'Eﬁ'[ﬁz
hr R 34' ¢ 7 TWO

(A) 50 B) 48

T R 70 3 1 s g 20 B F
@Eﬁﬁﬁg?mma{?%mﬂqﬂﬁﬁ
Tt g S o sy @

(A) 300 %

(B) 600 %=

(@) 2400 Fw=

(D) 20 ==

Prrfrfan weel 1 S e

. %ﬁmaﬁi‘ﬁﬁ,m%'
i, R e fedie Ll
377 g1l T HeT ST R |

il ¥ IR AT R IR |

V. m,ﬂﬁzmaﬁmﬁ‘ﬁﬂﬂ
HFEFFmuEae|

mﬁﬂﬁﬁ:

(&) i, it 3 i

(C) % asft (D) iii 3 iv e

i P umsgER ®

(A) wHfasTg

(B) HHeTg

(C) Aftrmenrvy

(D) ww=Iv

2016-17 8, sRamn £ GSDP

R TG @2
(A) 6.7 gfav

* (B)"7.6 frvm

(C) 8.7 wfavr JCL QA
(D) 10 ufesma - b
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20.

21.

23.

24,

ummnmmﬂumm||m||u|m
does N

ude all the axolse

Findout the
he following

ot inc
GST %0 rying goods:

dungT commodities outoft
non-

ticulars- .
Pi High speed diesel

i, Aviation Turbine Fuel (ATF)
i, Petroleum crude

jv. Motor spirit of petrol

v. Natural gas

Choose the right
(A) i iiand i

() i ii, jii and iv

answer given below :

(D) All the above

The equations ax + 9y =1'and gy-x-1=0
represent the same lineifa=
(A) 1 (B8) -1
©) ¢ (D) None of these

Consider the following :
1. Sambhar lake is a salt lake.
2. Chilka lake is a fresh water lake.

3. Vembanad lake is a back water lake.

Which of the above is /are correct ?
(A) 1and?2 (B) 1and 3
(C) Alitheabove (D) 3only

If m cot A = n, then the value of
msinA -ncos A i

ncosA+msinA

() LA g) m-n®
n-m n2 -m?

(C) m* -n® n?
m2+n2 (D] m+a;

Haryana is situated between s

(A) 27°37' to 30° 35' North latitude
(B) 37°37' 1o 30° 35' North latitude
(C) 47°37' to 30° 35' North latitude
(D) §7237' to 30° 35' North latitude

4/2018 (1) (M10)
20. STEdH aft sgwm e it
T &1 Frafafes o 3 -ogd ameh

TegL I Fife)

i. 3= e

ii. ISEI T §6 (ATF)
iil, = SRfeEm

iv. T ffe @ ¥om

v. Wrehfae g

ﬁ%ﬁmmaﬁrmﬁﬁq:
(A) i, ii 3T jii (B) ii, il T v
(C) i, ii3Miv (D) IFaash
21, GHWHU ax + 9y =13{R 9y —x—1 =0 g0
%@Tﬁ?ﬁ%ﬁa:

(A) 1
(C) o

(B) -1

(D) T ¥

22. Trafafes w e
1, g A i ® |
2. T #fie fis vt = R
3. dee A TR ST T Bl

SRAAFR-WEARR?
(A) 132 (B) 133
(C) 3% usfi (D) ¥a@3
23, qﬁhcotA=n,?h msimﬂ;—ncg_élf\«aﬁT
LIChS ncosA +nisinA
la) P+’ @ m-r
o Wl B
o) ME-rE R
© e D) Wes
RS aa'a‘t%iﬁﬁ%l s

(A) 27°37' § 30° 35 Il &
(B) 37°37' ¥ 30° 35 I &
(C) 47° 37" @ 30° 35’ Iadt A&

(D) 57°37' & 30°,35' I}
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v (1) (Mm) 1 q British Histo_rian
ong the following g s T

o Whgeiinl]ndian history_ir}to !

ﬂlivr:du. Muslim and British *

(A) James Mill |

(8) Warren Haslmg's

(c) Sir Thomas Smith

(D) Annie Besant

i he

invited some boyS and girls on t
t’;rtﬁ:;g:lhis son. The numbgr of L;ioys :3:
2 less than the number of girls. He r? 3
Rs. 10 to each boy and ﬁs. 20 to each girl.
If the total amount distributed by him was

Rs. 280, the number of boys was

() 25 (8) 10
©) 8 (D) 15

26.

Two coins are tossed simultaneously. The
probability of getting exactly two head is

) ® )2

< W o J

Three cubes each of side 5 cm are joined
endto end. The surface area of the resulting
solid is

(A) 15cm?

(B) 175cm?

(C) 350cm?

(D) none of these

27“

28.

29. Rabi crops are Sown at the end of
(A) C_)ctober

(C) December

(B) November

(D) January

30. Theo i
Medicig;?shgﬁgr;gzti e
(A) Michae W. Youn
(B) Tasuky Honjo :
(C) Michaei Rosbagh

€ ey, Hal|

ysiology or

25.

26.

27.

28.

29,

30.

I
2 Wiy

m ez i Ry

oAqeT

m? a’mm%&mm

(A) S firg

(B) A ey

(C) ¥ Ty fany

(D) W

ﬁlﬁgﬁﬁﬁﬁﬁaﬁm{'“;}%m

;@n@wazm%,m@ﬁ
. WW’]% %, og [

?Sﬂﬁﬁm% | 08,3 -
A) 25 =

© @ o) 12

& ot 9t v Ty

TRy

w1 ek

(C) y3 (D) %

5 Tt S A off

%lmmmmﬁgm%“‘

(A) 15cm? e

(B) 175 cm?

(C) 350 cm?

(O) T A FE 7 !

i it woe '_ ¥ st

e B , T

(A) 3R (B) TasR-

(C) fewsr (D) Sl

fafthean an sfeht & & = 2018 7 A

R it foan |

(A) WTERS Soey . AT

(B) WRgE s

(C) firora Tamw

(D) < . g
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31.

33.

34,

35.

36.

If p? = 6p + 7 is divided by p — 1, the
remainder will be

(A) Positive

(B) Zero

(C) Negative

(D) None of these

The most important distinguished feature
of the Federal form of government is
(A) Having Supreme Court in each
. State
Having two citizenship, one at the
Central Gowt. and another at the State
Gowt.
Distribution of executive powers
equally between Centre and States
State govemments vested with the power
of seceding from the union or federal

(B)

(C)
(D)

L

If ‘2’ means ‘+, ‘b’ means ‘- , 'C'means‘+' and
'd"'means ‘%' then, 25¢ 54 8 bi0als=
(A) 55 (B) 40
(C) 44 (D) 45

S years ago, father's
old as his son and aft
3times as old ag his
age of son,

(A) 10vyears

(B) 13years -
(©) 12 years -
(D) None of these

er 3 years, he will be
Son. Find the present

if2is a zero of polynomial p(x)= 4x£.+2x-— 5a,
then value of i

age was 5 times as

4/2018 (1) (M10)

-qﬁpa_ap.,.‘za-?[ p—‘l%ﬁimﬁﬂmm
2, @ 99 B

(A) HETEHS

(B) A
(C) =RUTcHeR

(D) 9 & =g T

32, TR F v wea h gaifs B ik
HecaqUl fersree 8

(A) ¥ T4 H wat= e

(B) A Twierand B, W ¥z TR sk
T TS TR Y

(C) ¥z =R Tl % ofi
1 T STERy

(D) T wHR # ¥ a1 U
T B oAt T @

33. AR @ H A 4 31
3 ‘g 3ok o0 |y 25¢c5d
(A) 55
(C) 44

5 T o far oy N a1y

o, 3aﬁ-mm§mlg§ang?a€aﬁa?§$
30 Bt Ot o o o 7

(A) 10ad i
(B) 13§

C) 1294

(D) T A

Ifg 2 TFER P(X) = 4% + 2x — 52 1 T [
%,?ﬁaﬂ’-‘[ﬁ%f . ,
(A) 5 @) 4

) o ) -4
BT TR (o) Rt
T % S e Remm -
(A) 2014 U (B)-2015

31.

FRIF Wit
U=

g 'c' m aﬁ |+|
8 b10 al5= ‘
(B) 40
(D) 45
34.

35.

36.

ais _
(A) 5 (B) 4
(C) 5/4 (D) -4
The Haryana Municipality (Amendment) Bl
was passed during the year - .
(A) 2014 (B) 2015 -
(C) 2016 (D) 2017

(C) 2016 (D), 2017 .
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8 (1) (W10 onts 1. 38 50 & H T s
e é :sider o foloning 2T yeste sem g
3 Hewes senter g many Y% 2. 3% faﬁﬁﬁgiaﬁtm |
' " imprisonm ied e €Iy, HTHT an
‘Lll‘ifa'mat ergardan? s R TR Ry P g |
gstu activ Lal IR T TS S9R |
Het revz’”t"; aTayrdaw.il.tM“-‘d 3. T | 5@ arfirg TRy |
tself W ama el ed , |
Inhingfﬂ a:i g isation calle uﬁgﬁﬁaﬁﬁ% ‘
Hgnif;:r Bharat s0¢i€ (A) T RE S
ﬁ;rsonalil}' referred ere ; (B) . €. HIa
Ta E!ash Bihari BO (C) ISIESERNRE]
((B)) V. savarki;{y (D) mmﬁ‘fﬁlﬁ
. h o
C) Lala Lﬂlpatd gismi
(D) Ram Pras3 fra e AR et AT e sy ey |
< different from the other 38. v g7 bl
38 Findthetenm-.hlch lstflfﬁ‘-:fe iven below. afie !
" ihree among the four options g p (A) W (B) =<
womew° O © R . (D) W
(©) Penci (B)RCER . - |
49, Bhuteshwar temple is situated in the | 39. 'KEH AR 2 :
- % Getictof - i (A) firmh (B) Siie |
A) Bhiwani ind SR (D) UTg |
((Cg Jajjar (D) Panipat ©) ) |
o TR areh |
40. Bugyals, a unique type of vegetation found 40. M, o Tt . Th QYA
4 gyals, q :
in Himalayas is the YR ! STl &

(A) Summer grasslands in the Himachal |

region i (A) TeTerT & o TSy o & Aem
(B) Summer grasslands in the Sikkim
Himalayas (B) fafery e o s urg % fgm
(C) Summer grasslands inthe Arunachal . '
(C) srvmeret fenmera | Tiey =g & #eH
(D) it weifea # ey g & fgm |

Himalayas
(D) Summer grasslands in the Eastern

mountains

41.  The solutions of system of equations
ax+by—a+b=0&ndbx—ay-—a

. I ay 4 by 5 a+b=03Wbx-ay-

are -b=0
a"b:
:S; X=a+b,y=a_p 3 01 et % |
©) :;;‘::.E.TF-&-_[; (B) X=a+b,y=a—p |
O x=0ysg ((C; “S-a+by=-a-p
-y ‘¢ X=1y=
J : m By LY
v (D) X:(),y=0
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42. Select the correct statement from the
following.

(A) Heterotrophs survival depends directly

or indirectly on autotrophs.

(B) Carbohydrates are stored in the form

of glycogen in plants.

(C) The process of acquiring oxygen from

outside and use it in breaking down
of food source for cellular needs is
photosynthesis.
The complex substances are broken
down into simpler ones for the growth
of the body using biocatalysts called
lipids.

(D)

Which of the following is incorrect ?

(A) 1935 Government of lndia- A.ct
provided for establishing Provincial
Public Service Commission

1909 Government of India Act provided
for separate electorate to Muslims
1919 Govemmentof India Actintroduced
for the first time bicameralism and
direct elections in the country '
1947 Independence of India Act provided
fortheinductionof Indiainto

group of nations (Commonwealth)

43.

(B)

©

(D)

44,
rainfall is
(A) Faridabad
(C) Sirsa

InHaryana, the district which gets the lowest

(B) Rohtak
(D) Hisar
| 45. Find the mis'.si'ng term (?) from the options
forMQ, 2, AE, HL, 08, vz,

(A) TX (B) sx

©) 1z (D) Ty
The ancient epic of Haryana js
(A) Rigveda

(B) Bhagavad Gita
©) Yajurveda’
(D) Osho

46.

4/2018 (1) (M10)
# wdl sy gy

. Wﬂmwamﬁamgtwm
gﬁﬂw%%ﬂﬁ‘ﬁmm

(B) Friterege el & s % w9 A
JeTfd gid 8l n

(C) @TEL B ITEEeE @ AR IR
saERArs % fog e e w5
AT R A e < A ST
HYAT B :

(0) et el i o 3 R e el
% fafie w7 Sa=SE S gEEaT |/
CISEICRS

43. Pl %3 S-w o 2 7

(A) 19353 I Tehm A wieter o
T SARI Y T W Fifr

(B) 1900 1 e Wkt v e}
a;%‘qgam%ﬂammmmﬁ

(C) 1919 %1 T Tkt arfirfirerm 3 3y
T TR fgHeE 3 e T H
YT il '

(D) 1947 wa Y oy AHfafmam 3
wuﬁﬁﬁwﬁmﬁmﬁa

44, Mﬁ%ﬁmﬁ%mwaﬁmﬁeﬁ%
(A) Wermre

(B) Uzas
© R (D) fREm
45, gn%n, %, AE, HL, 08, vz & QW @ (7) I
1
(A) TX (B) sSX
6y 12+ (D) TY
46, mmmw%
(A) ==
(B) srra ey
©) Tq¥=
(D) =7
oy o
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49, The Haryana

tabled by
A) Finance M
(C) Prime Minister

50, Matef
|, Biosphere

II. Atmosphere 2.
IIl. Hydrosphere 3.

IV. Envionment 4.
5.

(B) -5 “"6

51,

pudget for 2017-18 was

Minister (B) Chief Minister

the following with their pairs. .
“ 1. Blanket of air which

- organisms and their

surroundings
Select the angyer code ; :
B 1-2 15 -5

J28, .

(D) Home Minister

surrounds the earth
Domain of water
Gravitational force of
the earth

QOur surroundings
Narrow zone where
land, water and air
interact

Relation between the

Downloaded from www.cclchapter{@rscanned with OKEN Scanner
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P gﬁaﬂ fay
o (o <At ?
(B) T i Myreren

8. Pt frRye iy e 0o AT AV ey

49.

50.

51.

(A) 1,1'2'2'3,3,...

(B) 0.3, 0.33,0.333, ...
131

© 2248

©) 5, T2 N, ...
201718 FR AT

WWE‘ZR_T@TW|
(A) fereeft 6) T
(C) ! (D) T
ﬁﬂ%@ﬁﬁﬁgﬁ@wl
MECLE] 1. maﬁﬂﬁ >
1Y AT AR
II. FrgHSA o W F e
(IASREES] 3. geft -
V. Wi 4 maﬁﬂmm"”
5. e &, e ff, s
SR
T
6. Sfiat afit 3kl =Iwi 3R
& 9 gay
ST e gL :
(A) 1-2 lI-5 -3 V-6
B) I-5 -6 Ml -1 V-4
©) I-1 -4 m-2 Iv-3
D) I-5 ll-1 mW-2 v-4
Y01 TTfe a1 e N

(A) A&k T 9dT ST
(B) ﬁﬁm‘?ﬂlm
(C) &3 T YaT ST
(B) T 7 5T ST
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52.

53.

54.

55.

56.

57.

58.

59.

Find the missing number in the sequence

4,9, 16,25, 36,7

(A) 47 (B) 49

() 72 (D) None of these
Prithviraj Raso was written by

(B) Chand Bardai

(A) Sursagara
(D) Geethagovinda

(C) Panipath

What are the values of y if the distance
between the points (2, y) and (-4, 3)is 10 ?

(A) 11and-5 (B) 2and3

(C) Oand 1 (D) None of these
Kavi Maldevwas a - poet
of Haryana.

(A) Sanskrit (B) English

(C) Urdu (D) Hindi

The capital city of Haryana is
(A) Ambala (B) Chandigarh
(C) Rohtak (D) Karnal

A_ qertain number is 4 times the sum of the
dlglt-s. If 18 is added to the number, the digits
get interchanged. Then the number is

(A) 42 (B) 24

(C) 36 (D) None of these
The non-metal which is liquid in nature is
(A) ‘lodine . (B) Bromine
(C) Mercury . (D) Chlorine

The radii of two circles are 13 cm and
6 cm respectively. The radius of the circle
which has circumference equal to sum of
the circumference of the two circlesis

@A) 19cm ‘(B) 18.cm
(C) 16cm | (D) 20 cm
The Shivalik hill is in t}-e district of
(A) Sahibi (B) Ambala
(C) Aruna (D) Gagger '

52.

53.

54.

55.

56.

57.

58.

59.

60.

_ . 4/2018 (1) (M10)
;&?, 16, 25, 36, ? JE= H gw &1 T

(A) 47 (B) 49

€ 72 (D) = A s =
geafisT Tt T forar )
(A) HER (B) <Ie=Ers

(C) urua (D) Temide

7fe fagedt (2,y) 3 (-4, 3)Fdagli10 7,
Ay HAAFTE ?

) 113R-5  (B) 23MW3
©) 031 (D) ¥ & IS T
Ry FTeTed TR Hfa Al
(A) T (B)
© @) &
g fearom <6 TreTHTH B '_
(A) 3Tl (B) =SNG
(C) Ugdeh (D) T
o T ST ST % ANT h 4 O R AR
3a e § 18 ST ST @ W1 3ehi A A
19 1} e ST @1 A HEAT 8
(A) 42 (B) 24
(€) 36 (D) T8 | g 72
I8 LT S 59 & :
@A) AEEH (B) s
(C) & - (D) TR
2 el Y Frsard s 13 St oiwe B & |
39 g o B frreht aftfer 37 St gt &t
oRferl & am & sweR At
(A) 19cm . (B) 18om
(C) 16cm (D) 20cm
RafmwR - SRiRat
(A) @i - (B) 3fETEn
(C) 3TF0T (B) =R

b
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61. An image for
always .
(A) lllusionary image
(B) Virtual image
(C) Realimagé
(D) Reflection image

med bY@ plane mirror

i at
If August 27" was Monday, then 14" of th

month was on
(A) Monday
(C) Wednesday

62.
(B) Tuesday
(D) Friday

The state bird of Haryana is

(A) Peacock (B) Parrot -
(C) Pigeon (D) Black Francolin

63.

he governor of Haryana is appointed by

/(A) Prime Minister (B) President

(C) Chief Minister, (D) People

65. Goddess Bhawani Amba temple is in
(A) Rohtak District (B) Manipur District
(C) Ambala District (D) Gurgaon District

66. Haryana is called as the
(A) Land of temples
(B) Land of flowers
(C) Breadbasket of India
(D) Pious state

67. Star monument is the Samadhi of

(A) Tarachandiji Maharaj
(B) Narayana Swamj
(C) Shivaji
(D) Govindh Singh

68. Which type of soil havin

holding capacity ?

(A) Sandy soij

(B) Clay soil

(C) Loamy soj|

D) Mixture of sand and loam

g highest water
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8.

TR SR = ey oy
() heh ey
(B) ot wey
(C) = wey
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| fill in the planks with proper conjunctions.

6
holiday.

(4) during
(B) before
(C) while
(D) after

it rained a lot, we enjoyed our

70.
holiday.

(A) Although
(B) Though

(C) Even though
(B) In spite of

ioose the correct form of the verbs.

. What was wrong with you ?Why ____ go
b hospital ? o '
(A) hadyou to
(B) did you have to
(C) mustyou
(D) should you

1
- §he ~__from flu when she was
interviewed. '
A Is suffering

®) Had been suffering

©) Hag suffered

(D} Suﬁered :
l

g, We meta lot of people we were on

Pick out the rightly spelt word.

(&) Occured
(B) Occurred
(C) Ocurred
(D) Ocured

" 74. (A)
(B)
(C)
(2)

Fill in the blanks with appropriate prepositions.
the end of

- 73.

Comittee
Commitee
Committee
Commite

| am going away
January.

(A) at

(C) in

- 75.
(Ei to
(B) on

- 76. | will be at home ______ Friday morning.
You can telephone me then.
(A) at (B) on
(C) in (D) by

Choose the correct meaning of the underlined idiom
from the given options.

77. He is now a_gentleman at large living as

best as he can.
(A) Dominating

(B) Atliberty

(C) A person without any serious occupation

(D) Ordinary and undistinguished

78. A sensible man, as a rule, cares much for
public opinion. '
(A) Whatever may be the coét
(B) Whatever may happen
(G In reality

(D) Usually
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3 37) 86
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" 3 32
(W) 1-3 2-am 3-% 4-3
(B) 1-aT 2.3 3—'§ it
€ 1-3 2-% 3-31 4-aA
D) 1-% 2-31 3-3 4-%
80. gTefl wIe% 1 g w9 R 87.
5 ® wh
i) e (B) =i
81, TRIS 1 ) = TG T8 HTa1 FI € 7
() s=EE (B) T
(C) wgdfe S
82. NI TEAY N Y WA A wgr | 58
e ufte e
() T s, e, S,
T
(B) HEH, SHfehreh, Shfer, Tharer 89.
(©) sfvare s, FatwT, w,
TehadA
(D) EH iaalaa; w: m, Hci.%.rl.'
Tehaaqd
83. 3R 1 wreft wra @
s (B) W
e (D) e 90.
84, feiferiiad & & ‘a1 1 wiaar= weg Tt
@
o B (D) s
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g1 gl dadr Q’Eaﬁqaﬁ qraaT=a §
fafau

(A) drer T T

(B) ST =l TR

©) ©r2 | = 78 S|

D) e 4 78] =<t T

g + AT = ST R AR ?
) seLER ® TE
(C) & =fy ol

TGN SRR Bl 2 ? -
(A) Ty

(B) TifFa

€) w9

(D) Iam

Ilsli@aﬁﬂqﬁaﬁ:ﬁm
(A) fiafFy W‘ﬁﬁq
(B) ifr=afay
(C) Wﬂaﬁ?ﬁ
(D) a:rﬁaq:ﬁﬁ
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